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‘When the damager damaged he is — 39 9INKRY P an POITWD
liable’; this comes to include the ‘horn’

Overview

The X3 explains that according to X"9 the phrase P07 21 PTAwd (in our
mwn) is seemingly superfluous and it teaches us the X of 17 according to
XMW, or various other 0°21n (as mentioned in the subsequent Xn*92)
according to 271. However, according to X701 27 the phrase 'p>mai an prrawd’
is necessary to teach us that there is a 21°17 of 7" in a oMW 7xn1. How then
would X701 27 explain the position of X1 or the 0°21n of the Xn°>12 which
are derived from p 177 21 Po1Awd?! Our NMB0IN resolves this difficulty.

MooIN asks:
— 249990 99 ININYY 9P HNNY 1Y NIN NTON 299 99NN ON)

And if you will say; according to 1n''9 (who interprets the words 2an p1w>'
'™ 1A [of our 71wn] to inform us that there is a 21’11 for oMW 2%1) how will
he derive 397 according to “Nww, and all these other o°2vn which the
XN*72 mentions according to 29 (that are derived from the phrase p>ma7 an Prwa).

mMooIn has an additional question:
— NTON 29D XOWP 231 D3 9INNRD N0 PI1NN AN PIIAYI 5INPT NNI2T T

And furthermore the Xn»92 which states that the phrase p>tam 2n pormws
is extra (in our mMwn) but it is taught to include all these (2°21r that the

XN>72 mentions); this Xn>72 is difficult to understand according to n''1,
who maintains that P17 21 P°IAWD is necessary in our 71wn to teach us the 211 by 2xn
Pamwn.

MDOIN answers:
— NI’ NN 523 Y1TI7 999 v

And one can say that according to 11" the phrase P17 21 P 1awd is also

extra -
— 53N AN PIXVIVA 23T XD 29N PI1NINY PN MU 25NIY I8N NNT

for in order to teach us the 2111 by Ponwn 17X, the mwn could have merely
stated that by "5t PO WY (which is oMW 7¥M) you are 'a%n'; and

the mwn» should not have stated the words '»31%an an Pows'. From these
extra words we derive 17p according to 2% and 171 92" according to 21.

MooIn remains however with an additional questioln:
$NFIYIAN SYPIN HNINVIT NYP IN

' See “Thinking it over’ #'s 1&2.
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However, there is a difficulty, for according to Y81w, who maintains that

POTAT 20 PUTAWS comes TP INRY; the Xnvma is difficult, for it states that primw
PYI an comes 377 72 ™NRY and not 17! MooIn does not answer this question.2

Summary
According to n"9 the words P> an pronwa' are extra (to teach us 7P or 7'

"177) for the mawn could have merely stated '2>17'.

Thinking it over

When moon asks that there is a difficulty according to *9xmw, did mooIn
mean that there is this difficulty regardless if we follow the view of 1" or
X", or this difficulty is only if we accept the view on one of them?*

2. moon final question is on YXmw.” Is this question related to what this
nmooIn said previously, or is it a general question on X mw?

% See p"nuw.

? See footnote # 1.
* See n"ma.

3 See footnote # 1.
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